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Question Number : 1 Question Id : 2062052177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The number system which is the basis for computer operations is the

Options:

, w» Hexadecimal system

- % Octal system

s % ASCII

4  Binary system

Question Number : 1 Question Id : 2062052177 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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2 % ASCII
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Question Number : 2 Question Id : 2062052178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is a spreadsheet application in Microsoft Office?

Options:
1 ® VisiCalc

-~ % Lotus 1-2-3
3 « Excel

4 % StarCalc

Question Number : 2 Question Id : 2062052178 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 % VisiCalc

> % Lotus 1-2-3
z « Excel

4 % StarCalc

Question Number : 3 Question Id : 2062052179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What type of devices are CD and DVD?

Options:
| % Input

5 % Output
- % Software

4 Storage

Question Number : 3 Question Id : 2062052179 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 4 Question Id : 2062052180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O

Interpretation of instructions in a computer is done by the .
Options:

; = Registers



> « Control unit
z ® ALY

4 % CPU

Question Number : 4 Question Id : 2062052180 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 5 Question Id : 2062052181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
The program that downloads files from a website is calleda .

Options:
1 % Word Processor

- u Spreadsheet

= # Protocol

4 « Browser

Question Number : 5 Question Id : 2062052181 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 6 Question Id : 2062052182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The domain name extensions such as .gov, .edu. .mil, and .net are called?

Options:
; % DNS

-~ » E-mail targets
= « Domain codes

4 % IP addresses

Question Number : 6 Question Id : 2062052182 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 7 Question Id : 2062052183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following has the shortest access time?

Options:
, « Cache memory

- » Primary memory

5 » Vvirtual memory



4 » External memory

Question Number : 7 Question Id : 2062052183 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 8 Question Id : 2062052184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is called a supervisor of the computer activities?

Options:
. & Memory

o  Operating system

3 % I/O devices

4 % Control unit

Question Number : 8 Question Id : 2062052184 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 9 Question Id : 2062052185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The displays horizontal and vertical scales that reflect the width and height of the typing area.

Options:
1 « ruler

> % dimension
5 ® View
4 % area

Question Number : 9 Question Id : 2062052185 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 10 Question Id : 2062052186 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How do you arrange data in ascending or descending order in MS-Excel?

Options:
1 « Data => Sort
~ % Data =>Form

3 # Data == Table

4 % Data == Subtotal

Question Number : 10 Question Id : 2062052186 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 « Data >> Sort

- % Data >> Form
= % Data >> Table

4 % Data >> Subtotal

Question Number : 11 Question Id : 2062052187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The general guidelines for using social networks include all of the following EXCEPT:
Options:

, « Include photos and videos of every event you attend.

-~ = Keep login and password secret.

5 % Check the licensing agreement for any photos or videos.

4 = Keep global readers in mind.

Question Number : 11 Question Id : 2062052187 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 12 Question Id : 2062052188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Identify the odd one out among the given words listed below.

Options:



, = Applications
-  Peripheral device
o % Programme

4 % Software

Question Number : 12 Question Id : 2062052188 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 13 Question Id : 2062052189 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Microsoft PowerPoint, what are visual movements referred to as when one slide changes to another?

Options:
1 % Slide movement

> « Slide transition
5 % Slide change

4 % Slide transformation

Question Number : 13 Question Id : 2062052189 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 14 Question Id : 2062052190 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the activity of purchasing items and products from different websites on the internet?

Options:
, % E-Banking

= « E-Commerce
= % Online reservation

4 % M-Reservation

Question Number : 14 Question Id : 2062052190 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 15 Question Id : 2062052191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In . data is sent in such a way that it looks completely different from the original data.

Options:
| « Cryptography

> # Firewalls



5 % virtual Private Network (VPN)

4 w Decryption

Question Number : 15 Question Id : 2062052191 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 16 Question Id : 2062052192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The octal equivalent of the binary number (1001101), is:

Options:
1 ® 464
> % 715

s % 125

i 1S

Question Number : 16 Question Id : 2062052192 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % 464

. % 715
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Question Number : 17 Question Id : 2062052193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following techniques does a CD-ROM drive use?

Options:

, » Magnetic storage techniques

-  Optical storage techniques
- » Solid-state storage techniques

4, » Electronic storage techniques

Question Number : 17 Question Id : 2062052193 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 18 Question Id : 2062052194 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Web spiders and crawlers are examples of which of the following?

Options:

, % Search directory

-~ % Searchengine

- « Programs that systematically browses the web, typically for the purpose of web indexing

4 % Flames



Question Number : 18 Question Id : 2062052194 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 19 Question Id : 2062052195 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is the largest unit of memory?

Options:
,  Cigabyte
o % Byte

5 = Megabyte

4 » Kilobyte

Question Number : 19 Question Id : 2062052195 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 20 Question Id : 2062052196 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct: 1 Wrong: 0
Which of the following types of printer uses ribbon?

Options:
, w Laser printer

- % Plotter
5 » Inkjet printer

4  Dotmatrix printer

Question Number : 20 Question Id : 2062052196 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 21 Question Id : 2062052197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Hard disk drives are considered storage.
Options:

1 % Volatile

o

> « Non-volatile

&,

Temporary

4 % Non-permanent

Question Number : 21 Question Id : 2062052197 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 22 Question Id : 2062052198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Pascal is a

Options:
|  computer language

> % unit of computer

5 % computer operating system

4 % type of computer

Question Number : 22 Question Id : 2062052198 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 23 Question Id : 2062052199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Network components are connected to the same cable in the topology.

Options:



1 % Star
o B R_'lﬂg
= « Bus

4 % Mesh

Question Number : 23 Question Id : 2062052199 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
1 # TR

zw’*ﬁ?T
3¢ 99

4 ® ﬁQF

Question Number : 24 Question Id : 2062052200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The secret code that restricts entry to some programs is called:

Options:
1 « Password

5 % Passport
5 » Entrycode

4 # Unique code

Question Number : 24 Question Id : 2062052200 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 25 Question Id : 2062052201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The term modem stands for .

Options:
1 #% Mode-Demand

> « Modulator-Demodulator
=z % Mouse-Demand

4 % Modulation-Demonstration

Question Number : 25 Question Id : 2062052201 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 26 Question Id : 2062052202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Each on a menu bar performs a specific action.

Options:
1 % Client

~ % Server



=z # Node

4 « Menu item

Question Number : 26 Question Id : 2062052202 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 27 Question Id : 2062052203 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Microsoft Excel, charts are generally created using which of the following options?

Options:
1 « Chart wizard

> % Pivot table

5 % Page Layout

4 #® Review

Question Number : 27 Question Id : 2062052203 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 28 Question Id : 2062052204 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Under which ribbon of Microsoft Word 2013 will you find the option of add a chart?

Options:
1 ® View

> # Reference
= « Insert

4 % Page Layout

Question Number : 28 Question Id : 2062052204 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 29 Question Id : 2062052205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

What is the full form of RAM?
Options:

. Random Access Memory

1
- u Read Also Memory

- » Read Access Memory

, % Random Also Memory



Question Number : 29 Question Id : 2062052205 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 30 Question Id : 2062052206 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Microsoft Excel. you can sum a large range of data by simply using the button.

Options:
1 % AutoFill

- % AutoCorrect
= % AutoFormat

4 + AutoSum

Question Number : 30 Question Id : 2062052206 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
1 = AutoFill

> % AutoCorrect
= % AutoFormat

4 « AutoSum

Question Number : 31 Question Id : 2062052207 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The image displayed on the of the desktop’s screen of a Windows system is called

Options:



, % Main image

-  Wallpaper
- % Desktop image

4 % Windows image

Question Number : 31 Question Id : 2062052207 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 32 Question Id : 2062052208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
When vou create a chart on a separate sheet in the same workbook of Microsoft Excel it is called a/an?

Options:
1 « Chatt sheet

> % Embedded chart
= % View sheet

4 % View chart

Question Number : 32 Question Id : 2062052208 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 33 Question Id : 2062052209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Anti-virus software is used to:
Options:

, w» remove installed programs.

> % delete files.
3 o clean infected files.

« Ifragment a disk.

Question Number : 33 Question Id : 2062052209 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 34 Question Id : 2062052210 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Upgrading BIOS is also known as:
Options:

, % Upgrading

-~ % Smoothing



-  Flashing

4 ®% Writing

Question Number : 34 Question Id : 2062052210 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 35 Question Id : 2062052211 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following can be used to input printed text into machine-encoded text?

Options:
1 « OCR
> % OMR

s % MICR

4 % ODR

Question Number : 35 Question Id : 2062052211 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ferTafas & o B sgamr Wit oo &1 Aela-uaeies &9 & =0 & & e B s 27

Options:

, v OCR
. = OMR

- = MICR



. « ODR

Question Number : 36 Question Id : 2062052212 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The process of expanding a compressed file is known as

Options:
| « file decompression

> # file association
% # file restoration

4 # file deletion

Question Number : 36 Question Id : 2062052212 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 37 Question Id : 2062052213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Microsoft Word 2007 offers us two special features which are:

Options:
1 « AutoText and AutoCorrect

» % AutoType and AutoRight
5 % AutoWrite and AutoRight

4 % AutoLeft and AutoWrite



Question Number : 37 Question Id : 2062052213 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

1 « AutoText T AutoCorrect

. » AutoType T AutoRight
- % AutoWrite 3T AutoRight

4 = AutoLeft 3T AutoWrite

Question Number : 38 Question Id : 2062052214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
You can use to copy selected text and to paste it in a document.

Options:

| @ Cll+C Ctl+V

5 % Ctrl +C, Ctrl + P
2 % Ctrl+V, Ctrl+8

4 % Ctil+C Alt+P

Question Number : 38 Question Id : 2062052214 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

o Ctl+C, Ctrl +V
, x Ctrl + C, Ctrl + P
. Ctl + V, Ctrl + S

, = Ctl+ C, Alt + P

Question Number : 39 Question Id : 2062052215 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O



One of the possible causes of a hard disk developing bad sectors 1s:

Options:
1 frequent restarts while the hard disk drive is connected.

> w frequent formatting of the hard disk drive.
- » power supply fluctuations.

4 » applications installed on the hard drive.

Question Number : 39 Question Id : 2062052215 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

I_Jﬁﬁwwﬁﬁé,mwwm%l
, « &% 3% 337 # swER WAt
. x TSl A H 3AR-TeE

. » &5 3159 T ST HT I Teeiehea

Question Number : 40 Question Id : 2062052216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Snooping refers to access to interception of data.

Options:
1 % instant

> % intermediate
= % authorised

4 + unauthorised

Question Number : 40 Question Id : 2062052216 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:




Question Number : 41 Question Id : 2062052217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
protocol is used to create and end sessions for one or more media connections including

voice over IP calls.

Options:
1 ®% Session

- % Session termination
= « Session initiation

4 % Network level

Question Number : 41 Question Id : 2062052217 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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o ® '\BI'QI?!' Eﬁﬁ%l?{'
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Question Number : 42 Question Id : 2062052218 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which file format is used to save MPEG-2 TV recorded video?
Options:



| % mp2

o v P

- % mptva

4 8 tpz

Question Number : 42 Question Id : 2062052218 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

MPEG-2 T&iifa=s & Fir freg v or &ty &t 39 &9 & Biv =i7 8 w999 &7 39ger &
ST &7

Options:

1% mp2

> v P

s % mptv2

4 % P2

Question Number : 43 Question Id : 2062052219 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the keyboard shortcut to move the viewable rows one screen down in Apache OpenOffice Calc?

Options:
; % Shift + Ctrl ~ Page Down

> % Ctrl+Page Down
- % Shift + Page Down

4  Page Down

Question Number : 43 Question Id : 2062052219 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:



, = Shift + Ctrl + Page Down
> « Ctrl + Page Down
- % Shift + Page Down

4 « Page Down

Question Number : 44 Question Id : 2062052220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following uses radio or infrared signals that travel through the air for transmitting data?

Options:
1 # Network media

> % Wire-based media
5 « Wireless media

4 # Hardware media

Question Number : 44 Question Id : 2062052220 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 45 Question Id : 2062052221 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

User actions such as keystrokes or mouse clicks are referred to as
Options:

1 = Interrupts



- u Tasks
= % Processes

4 « Events

Question Number : 45 Question Id : 2062052221 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 46 Question Id : 2062052222 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
15 & program, which onee installed on a systemn, will mtercepts the kevs when entering a password or cradit

card aumber while shopping online.
Options:
1 ® Adware

-  Keystroke logger
o % Tap Doors

4 % Time Bombs

Question Number : 46 Question Id : 2062052222 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 47 Question Id : 2062052223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
In Microsoft Excel. a/an chart illustrates comparison among individual items.

Options:
1 « column

- % doughnut

2 % area

4 Pie

Question Number : 47 Question Id : 2062052223 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 48 Question Id : 2062052224 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The first stage in a software development process is

Options:
1 % Maintenance

> w Tlesting

5 % Specification and design



4  System analysis

Question Number : 48 Question Id : 2062052224 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 49 Question Id : 2062052225 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where is a computer's BIOS stored?

Options:
1 ® DRAM
> # Cache

s % SRAM

4 « ROM

Question Number : 49 Question Id : 2062052225 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
FF F FAH Fgl TN g 27
Options:

1 = DRAM
- # Cache
= » SRAM

. v ROM



Question Number : 50 Question Id : 2062052226 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the term for the type of security threat posed by email messages from unknown senders?

Options:

, w» Phishing

- % Reading
- % Spoofing

4 Spam

Question Number : 50 Question Id : 2062052226 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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TaftheT
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Question Number : 51 Question Id : 2062052227 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
To search FTP archives for a file one should use the tool.

Options:

, % Gopher

> « Archie
3 % Yahoo!

4 = Jalopy

Question Number : 51 Question Id : 2062052227 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
, = Gopher
> « Archie

=z % Yahoo!

4 » Jalopy

Question Number : 52 Question Id : 2062052228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The feature of the Microsoft Word enables us to create same letter for different persons.
Options:

| % Drop Cap

- » lemplate
5 « Mail Merge

4 » Hyphenation

Question Number : 52 Question Id : 2062052228 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
AEHHE T2 & BrET &0 He-3He9T e0agaT & BT THE 38T a9 J TEraar &0 81
Options:

% Drop Cap

1

. % lemplate
5  Mail Merge

4 % Hyphenation

RELDIMNG COMPREHEMNSION
Section Id : 206205332
Section Number : 2

Section type: Online



Mandatory or Optional: Mandatory

Number of Questions: 1

Number of Questionsto be attempted: 1

Section Marks: 5

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section I1d: 206205332
Question Shuffling Allowed : Yes

Question Id : 2062052229 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53 to 57)
Cuesticon Label | Comprehension



Read the following passage and answer the questions given
below:

The origins of cricket are obscure. and there are several
theories on how it started. The shepherds used to play it. with
one standing in front of the wicket gate to the sheepfold, and
another bowling a stone or something at him, and he would have
to hit it with his ‘crook’. Another theory 1s that it derives from
a game called club-ball. As well as shepherds’ crooks. early bats
were clubs and sticks. There gave way to long. thin ‘bates’,
which looked a bit like straightened-out hockey sticks. By the
beginning of the 18® century. the ‘batte’ had developed into a
longer. heavier. curved version of the one we know now. carved
out of a single piece of wood. Today’s bat was invented around
1853, with the blade made of willow, and a cane handle. which
is layered with strips of rubber. tied with twine. and covered
with rubber to make a grip. The early balls were stones and
other missiles. They’re now made of cork. and covered with
hand-stitched leather quarters dyed red. The wicket- the stumps
are the three posts. Originally there were two. and at one point.
four. The size has varied too-in the 17™ century. were up to two
metres wide! The bails are the two bits of wood on the top. and
if they fall off, it’s all over!

Tellicherry in North Kerala found a place in the world
(cricket) map when the 200% anniversary of the first-ever match
played in India was celebrated there recently. According to
history, Sir Arthur Wellesley - who defeated Napoleon at
Waterloo-came to Tellicherry in the late 1790s as the military
head of the East India Company in Malabar. Canara, and
Mysore. It can be assumed that the Englishmen carried their
cricket kits along with their gun-cases and played their first
match in Tellicherry in 1802. The games caught the imagination
of the local people even after the Englishmen left the area.
However. the Tellicherry Cricket Club was formed only in
1860.

Sub questions

Question Number : 53 Question Id : 2062052230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Why are the origins of cricket obscure?
Options:
There is clear evidence that cricket emerged
| % from shepherds play.

-  There is no clear evidence how it came into as a game.



- » Bats from emerged out of crooks.

4 w There is clear evidence how it came into as a game.

Question Number : 54 Question Id : 2062052231 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Before cork ball came into being early player used:
Options:

1 « stones and other missiles

> % rubber balls
= % Wwooden balls

4 % sticks

Question Number : 55 Question Id : 2062052232 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Before the wicket stumps consisted of three posts, the
wickets had:

Options:

, w three stumps

> % five stumps

-  two stumps and four stumps

4 % one stump

Question Number : 56 Question Id : 2062052233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Tellicherry is the memory of history of cricket
because

Options:

| « The first cricket match of India was played here.

» # Lord Wellessey played cricket here.



Napoleon was defeated by Welessey who played cricket in

5 % Tellicherry

4 w Tellicherry Cricket Club was formed in 1860.

Question Number : 57 Question Id : 2062052234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The games caught the imagination of the local people
means that

Options:

, = Local people imagined about cricket.

-~ % They imagined about Lord Wellesley.

- # Local people started a cricket club.

4 Local people started play the game among themselves.

Question Id : 2062052229 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (53t057)
Cuestion Label © Comprehension
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Sub questions

Question Number : 53 Question Id : 2062052230 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 54 Question Id : 2062052231 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 55 Question Id : 2062052232 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 56 Question Id : 2062052233 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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Question Number : 57 Question Id : 2062052234 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:
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CUANTITATIVE APTITULE

Section Id : 206205333
Section Number : 3
Section type: Online

Mandatory or Optional: Mandatory



Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 206205333
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 2062052235 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
An HE company employvs 4,300 persons, out of which 43 per cent are males and 60 per cent of the males are erther 235

vears or older. How many males are emploved in that HR company who are vounger than 25 years?
Options:
1 % 2.640

, % 2,160

5w 1,296

4 o 864

Question Number : 58 Question Id : 2062052235 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Options:

| % 2,640
o G0
. % 1,296

L v 864

Question Number : 59 Question Id : 2062052236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

The product of three consecutive even numbers is 4032, The product of the first and the third number is 252, What is
five times the 2cond numhber?

Options:
1.+ 80



> % 100
=z B 60

EE 70

Question Number : 59 Question Id : 2062052236 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
e AR WA AEE & qvEwe 4032 7| SEer At A s #oauewe 252 &) gud s
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Options:

. % 100

Question Number : 60 Question Id : 2062052237 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What will come in place of question mark (?) in the given number series?

2 4 I 7 82 244
Options:
1 ® 30

o> R 48
3. v 28

4 B 46

Question Number : 60 Question Id : 2062052237 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:



o W 28

Question Number : 61 Question Id : 2062052238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following numbers is divisible by 3?7

Options:
, ®% 518932

> o 117342
s % 213454

4 % 337625

Question Number : 61 Question Id : 2062052238 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T=fafee # o =g @ 7= 3 @ Fafea &2
Options:

| % 518932
. v 117342
o = 213454

. % 337625

Question Number : 62 Question Id : 2062052239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
On selling an article for ¥ 480. Nitu gains é of the cost price. If the article is sold for T 468, then her gain/loss
percentage is:
Options:
Loss of 8

1 B

'

/z ﬂ

[N =

7 1
~ Gain of 8 =%
i 4



- o e
~ Lossof 7 — %

= 27
: 5 1y A
Gainof 7 — %

4 27

Question Number : 62 Question Id : 2062052239 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:
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Question Number : 63 Question Id : 2062052240 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
In & towm, 90% of the population consists of adults of which males and fermales are i the ratio of 5 ; 4. 11 the mumber of
adult females 15 4 : 4 lakh, then the ratio of wtal population to that of adult population is:

Options:
1 % 10:7

-~ % 11:10
=3 329
4« 10:9

Note: For thisquestion, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

Question Number : 63 Question Id : 2062052240 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Options:

, % 10:7



> % 11 : 10
2% 11:9

L 10:9

Note: For this question, discrepancy isfound in question/answer. Full Marksisbeing awarded to all candidates.

GEMERAL MENTAL ABILITY AND REASONING

Section Id : 206205334

Section Number : 4

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 6

Number of Questionsto be attempted: 6

Section Marks: 6

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number : 1
Sub-Section Id: 206205334
Question Shuffling Allowed : Yes

Question Number : 64 Question Id : 2062052241 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
Select the option that is related to the third word on the same basis as the second word is related to the first word.

Street:Lane::Road:?
Options:
1 & Aveme

-~ » Highway
- % Footpath

4 % Junction

Question Number : 64 Question Id : 2062052241 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 65 Question Id : 2062052242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third word on the same basis as the second word is related to the first word.

Matricide : Mother : : Homicide : 7
Options:
1 « Human

> % Children
= % Father

4 % AApes

Question Number : 65 Question Id : 2062052242 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 66 Question Id : 2062052243 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0



Select the alternative with the most appropriate description about these three words.

Mundas : Gaddis : Shompens
Options:
, w They are varieties of fodder.

-~ % They are different kinds of pastures.
- w They are tribal group.

s They are good mountaineers.

Question Number : 66 Question Id : 2062052243 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 67 Question Id : 2062052244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the alternative with the most appropriate description about these three words.

Ebony : Rosewood : Mahogany
Options:
, w These are trees of temperate regions.

> « These are hardwood trees.

- w These yield good wood for fuel.

4 # These are coniferous trees.



Question Number : 67 Question Id : 2062052244 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 68 Question Id : 2062052245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Select the option that is related to the third number on the same basis as the second mmber is related o the first mumber.

1EE20 - T2135 5 152943 .7
Options:
| #% 62034

> % 163044

Question Number : 68 Question Id : 2062052245 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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11529 : 72135 = 152843 : 7
Options:

| % 62034

. = 163044



. = 203448

. v 213549

Question Number : 69 Question Id : 2062052246 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A bus starts from eity X, The number of women in the bus is half of the number of men, In ¢ty Y. 10.men leave the bus
amd five women enter. MNow. number of men and wommen 1= equal. In the beginning. how many passengers entered the
bus?
Options:

1 ® 15

o R 30
=z W 36

4.« 45

Question Number : 69 Question Id : 2062052246 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 70 Question Id : 2062052247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
CDMA technology used in mobile phones stands for:

Options:
, = computer developed management application.

> % code division multiple application.

5  code division multiple access.

4 % code division mobile application.

Question Number : 70 Question Id : 2062052247 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 71 Question Id : 2062052248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Himalayan mountain range is an example of:

Options:
1 % Block mountain

> « Fold mountain

% # Volcanic mountain



4 % Residual mountain

Question Number : 71 Question Id : 2062052248 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 72 Question Id : 2062052249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
A Raja. the former Central Minister for Communication and Information Technology, belongs to which

of the following parties?

Options:
, w Indian National Congress

- » DBharatiya Janata Party

- » Communist Party of India

4 « Dravida Munnetra Kazhagam

Question Number : 72 Question Id : 2062052249 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 73 Question Id : 2062052250 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many times did Geet Sethi win the IBSF (International Billiards & Snooker Federation) World Billiards

Championship title?
Options:
1 ® Twice

- « Thrice
- % Four times

4 % Five times

Question Number : 73 Question Id : 2062052250 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: O
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Question Number : 74 Question Id : 2062052251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many states in India have a coastline?

Options:
1 % Seven
» % Eight

3 « Nine

4 % Ten



Question Number : 74 Question Id : 2062052251 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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Question Number : 75 Question Id : 2062052252 Question Type: MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Who among the following used to be the final authority in India to approve Five-Year Plans, when they existed?

Options:
1 % Union Council of Ministers

- u Planning Commission

= % Prime Minister

4  National Development Council

Question Number : 75 Question Id : 2062052252 Question Type: MCQ Option Shuffling: Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
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English Twping Test

Section Id : 206205336

Section Number : 1

Section type: Typing Test
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Question Number : 76 Question Id : 2062052253 Question Type: TYPING TEST Display Question Number : Yes
Wornens History Month is an annual declared month that is traditionally held in March, but the study of
woImens history is valuable all twelve months of the year. Women hawve overcorme daunting odds to succeed
and excel in all areas of human endeavor, including science, manufacturing, athletics, business, and
exploration.
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Question Number : 77 Question Id : 2062052254 Question Type: TYPING TEST Display Question Number : Yes

Cperation Wrath of God, also called Operation Bayonet, was a covert operation directed by [Srael and its
security agency, Mossad, to assassinate individuals alleged 1o hawve been directly or indirectly involved in the
massacre of [sraeli athletes at the 1972 Munich Olympics. Their targets included members of the Palestinian
militant group Elack Septermnber, who were responsible for the Munich attack, and mernbers of the Palestine
Liberation Crganization accused of involvement. Authorized to begin by Israeli Prime Minister Golda Meir in
the auturmn of 1972, the operation may hawve continued for more than 20 years. During this time, covert [sraeli
assassination units killed dozens of Palestinians and Arabs across Europe, including the mistaken murder of
an innocent waiter in Lilleharmmer, MNorway, An additional military assault was launched by [sraeli cormunandos
deep inside Lebanon to kill several high profile Palestinian targets. This string of assassinations spurred
retaliatory attacks by Elack September against a variety of Israeli government targets arcund the world. It has
also prompted criticism of [srael for its choice of targets, tactic of assassination, and overall effectiveness.
Because of the secretive nature of the operation, some details are unwverifiable beyond a single source. For
many, the Munich massacre, Isracls retaliation, and Palestinian Counter retaliation epitormzed the seerungly
never ending cycle of violence in the Arab Israeli conflict that continues in different forms today. This
operation was outcome of the massacre of 11 Israeli athletes at the 1972 Summer Olympics by the Palestinian
terrorist group Black September. Soon after the incident, Prime Minister Golda Meir created Cormmittee ¥, a
small group of government officials tasked with formulating an Israeli response, with herself and Defense
Minister Moshe Dayan at the head. She also appointed General Aharon Yariv as her Adwviser on
Counterterrorisi. He, along with Mossad Director Zvi Zarmr, took the principal role in directing the ensaing
operation. The cormrnittes came to the conclusion that to deter future terrorist incidents against Israesl they
needed to assassinate those who had supported or carried out the Munich massacre, and in dramatic fashion.
Pressured by [sraeli public opinion and top intelligence officials, Meir reluctantly authorized the beginning of
the broad assassination campaign. The comurittees first task for [sraeli intelligence was to draw up an
assassination list of all those involved in Munich. This was accomplished with the aid of PLO operatives
working for the Mossad, and with information provided by friendly European intelligence agencies. While the
contents of the entire list are unknown, reports put the final number of targets at 20 to 25, a mix of Black
Septerriber and PLO elernents. It is also knowr that Mossad agent Michael Harari led the creation and direction
of the tearmns, although some may not have always been under government responsibility.
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